38. In the standard (x,y) coordinate plane, the center of the
circle shown below lies on the x-axis at x = 4. If the
circle is tangent to the y-axis, which of the following it
an equation of the circle?

YA
F. x+4)°+y’= 4
G. (x—4)+y*=16
H (x-4)°-y"=16 0
J. ¢x-d*+y’= 4
K. X+ (y-4)°"=16
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49. The shaded region in the

graph below represents the

solution set to which of the following systems of

inequalities?
y
A
2
N 2 2
\\\{.x ______ (x_l) +(y_2) =9
\\\el,’ ~\\\
A x
\\\\ \\‘V'I, )x
A :y<—x+2
-1+ (y -2 <9
B :y>—x+2
"l -1+ (y-2)"<9
C :y>—x+2
-1+ (y-2)°>9
D :y<—x+2
-1+ (-2 >9
i [(y-2)<3
(x-1)>3




37. As shown in the standard (x,y) coordinate plane below,
P(6,6) lies on the circle with center (2,3) and radius
5 coordinate units. What are the coordinates of the
image of P after the circle is rotated 90° clockwise (C )
about the center of the circle?

YA
8 F
6T
4__

A. (2, 3) 2T

BER i

D. (6. 0) —4 20X

E. (7, 3) T



Use the following information to answer
questions 54-56.

The radio signal from the transmitter site of radio station
WGGW can be received only within a radius of 52 miles in
all directions from the transmitter site. A map of the region
of coverage of the radio signal is shown below in the
standard (x,y) coordinate plane, with the transmitter site at
the origin and 1 coordinate unit representing 1 mile.

N
A 1v«$+3
52 !

0 2%

54. Which of the following is closest to the area, in square
miles, of the region of coverage of the radio signal?

F. 2,120
G. 2,700
H. 4,250
J. 8,500
K. 16,990

55. Which of the following is an equation of the circle
shown on the map?

x+y=52

x+y)=52

(x +y)* = 52°

FL+y' =52

X +y =52°

EEQFr»>

56. The transmitter site of radio station WGGW and the
transmitter site of another radio station, WGWB, are
on the same highway 100 miles apart. The radio signal
from the transmitter site of WGWB can be received
only within a radius of 60 miles in all directions from
the WGWB transmitter site. For how many miles along
the highway can the radio signals of both stations be
received?

(Note: Assume the highway is straight.)

8
12
40
44
48

7



36. A particular circle in the standard (x,y) coordinate
plane has an equation of (x — 5)* + y* = 38. What are
the radius of the circle, in coordinate units, and the
coordinates of the center of the circle?

radius center

F. V38 (50
G 19 (50
H 38 (50
J. V38  (-5)0)
K 19  (-5,0)



67. Find the radius of the circle with center (4, —2) that is tangent to the y-axis.
a. 2
b. 6
c. 1
d. 4
e. 10



68. Find the area, in square units, of the circle represented by the equation (x - 5)% + (y — 2)? = 36.
f. 6m
g. 36w
h. 25n
i. =27
j. 4mn



41. A circle in the standard (x,y) coordinate plane has E@Mﬁﬂ ﬂé// /‘%—

center (2,-3) and radius 4 units. Which of the

¥

ACT-578B

following equations represents this circle? ( /X-’ é) 2 1/- / é 2. k 2
A, x-2+(y+3)>= e[ f,./afl/ g f—

B. (x+2)*-(y-3)7= 4 o 10 - i

C. x+2+(y-3)*= 4 'd [é/,é) o C’énm @0@'//{/1/0/%(—5
D 6

E

:(x+2)2—(y—3)2=16 e /’M%

x-2P+(y+3)P° =1

22 GO ON TO THE NEXT PAGE.



56. The circle (x — 1)* + ( y - 2)* = 26 intersects the y-axis in
two points, one of which is (0,7). At what other point

does the circle intersect the y-axis?
F. (0,-7) D Ra ; W
a L’ N?
G. (0,-3) | ! p/@
L { |

> H. (0.3)
J. (0.v26)
K. (7,0)9\
Q’im}m EQCQMO/Q QM
wrso gyt Yot L on Aps 2 | GO ON TO THE NEXT PAGE.
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42. An equation of a particular circle is (x — 3)* + y* = 10. M,( P/’e@ ? Y 4ﬁ0ﬁ Sl

What are the coordinates of this circle’s center and

what is the length, in coordinate units, of this circle’s . / /
radius? : ﬂf C”/lcf £ /&l’mh/ <=

o v= Cinele (xh)os (g 4)"- 1" (HH

F' «(=3i0)% 10

G. (-3,0) 5 ps 5. . |
u “H. (30 V10 (/X"B) R g, st I O 7 "’.}’M/"
3. (30 5 | |

K. (30 10 (X’}>1+( —‘0)'2_,:1\)-75\1-* C&vﬁ’ﬁ@@)
f Sl




